
MTS
COLLECTIVE

Instruction Manual
Bedienungsanleitung

Mode d‘emploi



2MTSIM MTS COLLECTIVE INSTRUCTION MANUAL

PARTS

1x1x

1x

[dimensions in mm / different scales]
No extra or spare parts listed!

230
80

80

260

80

40

150
40

80

threads

1x

1x

 80
 

 4
0 

 80
 

 8
0 

2x

 Ø20 

2x



3MTSIM MTS COLLECTIVE INSTRUCTION MANUAL

1x 1x

 60 

M8

M8

1x 1x

8

10

 
8 

 14 

2x 2x

 8,4 
 16 

6x

3x

3x 4x

 30 

 Ø
8 M8

 8,4 
 24 

6x 11x

 6,4 
 12 

M6

4x

 
6 

 16 

4x

BAG

BOX

 
8 

 18 



4MTSIM MTS COLLECTIVE INSTRUCTION MANUAL

1x

 8,1 
 16 

 10 
 26,1 

 80
 

 4
0 

1x1x

1x 2x

Swivel and Quick Release Adapter

VPC Rotor TCS Mount if ordered

M6

 
6 

 16 

 
4 

 16 

2x

2x

4x

 6,4 
 12 

 8,4 
 24 

2x

1x

1x

black

black



5MTSIM MTS COLLECTIVE INSTRUCTION MANUAL

ASSEMBLY FOR VPC ROTOR TCS

pre-assembled
universal

connector

pre-assembled
universal

connector

threads



6MTSIM MTS COLLECTIVE INSTRUCTION MANUAL

2x
M6x16
black

2x
slot nut

M6

2x
washer Ø12

black



7MTSIM MTS COLLECTIVE INSTRUCTION MANUAL

Alternative mounting allows for 
higher collective positions.

Alternative mounting to get the 
collective closer to the seat.

2x
M8x14

2x
washer

Ø16

2x
slot nut

M8

1.

2.

Screw on loosely at 
first. Will be moved to 
the correct position 

later.



8MTSIM MTS COLLECTIVE INSTRUCTION MANUAL

2x
plug

cap

cap



9MTSIM MTS COLLECTIVE INSTRUCTION MANUAL

swivel
cap

detailed view

swivel 
inlay

knob

axial
ball

bearing

knob

axial
ball

bearing

 loose fit



10MTSIM MTS COLLECTIVE INSTRUCTION MANUAL

4x
M4x16

flat head

washer Ø24 original VPC 
screw
M8x25



11MTSIM MTS COLLECTIVE INSTRUCTION MANUAL

ASSEMBLY FOR WINWING GEMINI

2x
pre-assembled

universal connector

Mount this profile horizontally 
for WinWing Gemini.

Only different steps
are shown.



12MTSIM MTS COLLECTIVE INSTRUCTION MANUAL

4x
slot nut

M6

cap

cap

plug

plug



13MTSIM MTS COLLECTIVE INSTRUCTION MANUAL

4x
M6x16

4x
washer Ø12

Move to desired
position before

tightening screws.



14MTSIM MTS COLLECTIVE INSTRUCTION MANUAL

cap

3x
slot nut

M8

ASSEMBLY FOR ALL VERSIONS



15MTSIM MTS COLLECTIVE INSTRUCTION MANUAL

3x M8x18

3x washer Ø24

choose desired
distance to seat



16MTSIM MTS COLLECTIVE INSTRUCTION MANUAL

knob

set screw
M8x10

loose fit

double slot nut
2x M8



17MTSIM MTS COLLECTIVE INSTRUCTION MANUAL

4x 
slot nut 

M8

Detail



18MTSIM MTS COLLECTIVE INSTRUCTION MANUAL

4x universal connector

4x M8x30

very
loose
fit

choose desired position 
before tightening the bolts



19MTSIM MTS COLLECTIVE INSTRUCTION MANUAL

tighten both knobs



20MTSIM MTS COLLECTIVE INSTRUCTION MANUAL

Slide down until it touches 
the profile. Then fully tighten 
the screws.

Tighten set screw
and knob.



18-07-2023


